Chapter 9 Review -8 grade Name: Per.

1. Which graph could be a translation ofA DEF?
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2. AJKL has vertices J(3,3), K(3,7), and L(7,3). Which graph shows AJKL and AJ’KL’, its image after a translation?
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3. The coordiantes of A DEF are D(4,3), E(6,3), and F(5,6). If you translateA DEF 2 units left and 3 units up, what are the
coordiantes of E'?

4. The vertices of parallelogram GRAM are G(—10,4), R(—9, 8), A(—6,8), and M(— 7 ,4). Graph GRAM and G'R'A’M’, it’s
image after a translation 12 units right and 1 unit up.
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7. The rectangle describes a plot of land. There is another plot of land 140 yards s 3
East and 100 yards north of the original plot. Which graph represents the plot of
Land? Oa (@]:3 (@]
v Q)
2400
[:I 7a. What is the combined area of the plots?

8. Describe the location of the image of the figure under the given translation. (x,y)=>(x + 4, y + 2).

(734, The image 15 down and to the left. (OC. The image i down and to the right.

(B, The image 1z up and to the nght. (OD. The image is up and to the left.



9. Which of these triangles are reflections of A ABC? 10. Which graph shows A ABC and its reflection

N = across the y-axis?
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11. Describe in words how to map AABCtoits image Ansc. 12. The vertices of AABC are A(-2,5),
B(-2,3),and C(—5,2). If AABCis
S « (& AA'B'Cis the image of A4BC after a Reflected across the y-axis to
A 1 A reflection across the y-ams. produceAA'B'C', find the coordinate
7 i i “ (OB AA'B'C'is the image of AABC after & of vertex B’.
e i o reflection across the me = — 2.
i X (OC AL'B'C 15 the image of AABC
PR translated 2 units horizontally.

(D, AL'B'C 1 the image of AABC after a
reflection acrass the s-asms.

13. Which graph shows a transformation that is a rotation? 14. What is the angle of rotation about
A B C the origin, that mapsAPQR toh P’Q’'R’?
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15. Point P has coordiantes (3,2). If you rotate P 270° about the origin, what are the coordinates of P?

16. Rotate APQR 180° about the origin.
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17. Suppose APQR is rotated 90° about the origin. Find the coordinates of P’, Q’, and R’. 4] pQ
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18. Given AQRS = toAQ’R’S', describe a pair of rigid motion that maps‘QRS toAQ'R'S'.
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Q & (4. Translation of 10 umts right, translation
f 2 e of 6 umts down
8 ] . (B, Reflection across the v-axis, translation
TS 1T of 10 urits down
“ A (JC. Rotation of 0% about the onigin,
R ' translation of & units up
A (0. Reflection across the v-axis, translation
of 6 umts down
19. |SA DEF EAD'E'F’? & Yes, because a translation of 6 units (B Yes, hecause a reflection across the
v @ down and 7 units right, followed by a w-axis, followed hy a translation of
& D reflection across the y-ams, maps 7 units left and & units up, maps ADEF
E 4__ fz MDEF to AD'E'F' to AD'E'F.
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o I I TIC. Yes, because reflections across the -
ETh (12141 - (0. Mo, because a sequence of rgd

v-axs and the x-ams, followed by a tions d ¢ ADEF &
translation of 7 umits left, map ADEF EE.DEI.I;. pEs ok map ?

to AD'E'F".
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_: [:I (B, Translation § umits up, translation 10 units left
2—"-\ e _ (JC. Translation § units down, translation 10 units right
BRI LT T T ;:‘ (D Reflection across the x-axis, translation 6 units right
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